Series SYJ500
Manifold Specifications

Manifold Specifications

o For internal pilot Type 20 Type 40 Type 41
ode
For external pilot Type 21R Type 40R Type 41R
Manifold type Single base/B mount
P (SUP), R (EXH) Common SUP, common EXH
Valve stations 2 to 20 stations
A port Location Valve Base
Porting -
specifications Direction Top Bottom Side
P, R port g g s
: M5 x 0.8 M5 x 0.8, V8, C4 (One-touch fitting for
Port size A port M5x0.8 s 4), C6 (One-touch fitting for @6)
X port Note) M5 x 0.8 M5 x 0.8 M5 x 0.8
Q Note) Only for external pilot
Flow Characteristics
Port size Flow characteristics
Manifold 1-2(P—>A 2—->3(A—=R)
1(P),3(R) | 2(A) c . . c " -
port port [dm?®/(sbar)] [dm?®/(sbar)]
Body ported for internal pilot | Type SS3YJ5-20 | SYJ5C12 1/8 M5 x 0.8 0.47 0.43 0.13 0.74 0.32 0.19
Type SS3YJ5-40-M5 1/8 M5 x 0.8 0.71 0.52 0.21 0.81 0.28 0.20
Type SS3YJ5-40-01 1/8 1/8 0.98 0.36 0.25 0.92 0.24 0.22
Base mounted Type SS3YJ5-41-M5 SYJ504 1/8 M5 x 0.8 0.71 0.49 0.20 0.80 0.23 0.19
for internal pilot Type SS3YJ5-41-01 o 1/8 1/8 1.0 0.37 0.26 0.96 0.25 0.24
Type SS3YJ5-41-C4 1/8 C4 0.68 0.35 0.17 1.0 0.25 0.24
Type SS3YJ5-41-C6 1/8 (6]3] 1.0 0.27 0.25 1.0 0.30 0.26
Body ported for external pilot | Type SS3YJ5-21R | SYJ5012R 1/8 M5 x 0.8 0.47 0.43 0.13 0.74 0.32 0.19
Type SS3YJ5-40R-M5 1/8 M5 x 0.8 0.71 0.52 0.21 0.81 0.28 0.20
Type SS3YJ5-40R-01 1/8 1/8 0.98 0.36 0.25 0.92 0.24 0.22
Base mountt_ad Type SS3YJ5-41R-M5 SYJ504R 1/8 M5 x 0.8 0.71 0.49 0.20 0.80 0.23 0.19
forexternal pilot 3,56 §53yJ5-41R01 1/8 1/8 1.0 0.37 0.26 0.96 0.25 0.24
Type SS3YJ5-41R-C4 1/8 C4 0.68 0.35 0.17 1.0 0.25 0.24
Type SS3YJ5-41R-C6 1/8 C6 1.0 0.27 0.25 1.0 0.30 0.26

Q Note) Value at manifold base mounted, 2 position single operating

4-4-24

How to Order Manifold (Example)

Instruct by specifying the valves and blanking plate assembly to be mounted on the manifold along
with the manifold base model no.

Example:

® SS3YJ5-20-03 -+ 1 set (Manifold base) ® SS3YJ5-41R-03-C6 - 1 set (Manifold base)
*SYJ512-5LZ-M5- -2 sets (Valve) *SYJ514R-5G- -+ 2 sets (Valve)
*«SYJ500-10-1A------1 set (Blanking plate assembly) **SYJ500-10-3A - 1 set (Blanking plate assembly)

The asterisk denotes the symbol for assembly. Prefix it to the part nos. of the solenoid valve, etc.

o
5



3 Port Pilot Operated Solenoid Valve .
Rubber Seal Series S YJ 500

Combinations of Solenoid Valve,

Manifold Gasket and Manifold Base Blanking Plate Assembly

Part no.: SYJ500-10-3A

Round head combination screw

Body ported (Type SYJ5012(R)) Base mounted (Type SYJ514(R))

Round head combination screw

/ M2.5 x 25, Matt nickel plated

Manifold
gasket

| v
Q- SYJ500-5-4

Applicable base

SS3YJ5-21R } Manifold

SS3YJ5-20 base

Manifold base

Manifold
‘ ‘ gasket

} \ SYJ500-5-5
|

Applicable base
Sub-plate
SS3YJ5-40
SS3YJ5-41
SS3YJ5-40R
SS3YJ5-41R

Manifold
base

A Caution

’ Mounting screw tightening torques
M2.5: 0.45 N-m

S @‘/ M2.5 x 7, Matt nickel plated

Blanking plate
»~ SYJ500-10-3

DXT200-9-8
Applicable base
Sub-plate

SS3YJ5-40
SS3YJ5-40R | base
SS3YJ5-41R

Part no.: SYJ500-10-1A

Round head combination screw

- M2.5 x 7, Matt nickel plated
Blanking plate
Qv IENN.10.7
SYJ500-10-3
Manifold gasket

SYJ500-5-4

Applicable base
SS3YJ5-20
SS3YJ5-21R

valves (blanking plate) and manifold gasket.

Use caution to the assembly orientation for solenoid

O
:

4-4-25




